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GENERAL INSTRUCTIONS Q&EXAMINEES

(1) wdEmeff geyem AT thaxﬁwiﬂ Cll

Candidate must write ﬂrst. his / her Roll No. on the question paper compulsorily.
aft yea e IfEE E |

All the questions are compulsory.
e S 1 IR & 8 STt # € ford 1

Write the answer to each question in the given answer-book only.
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(4) T el arretien e €, 37 Tt 36 e s e R |

For questions having more than one part, the answers to those parts are 10 be written
together in continuity

5) - R aﬁsﬁmﬁﬁmﬁmﬁg&/m/ﬁﬁwéﬁm%ﬁ W%m f
1 1 T A |

If there is any error / difference / contradiction in Hindi & English version of the question

paper, the question of Hindi version should be treated valid.

"\!ﬁ
(6) T 1 I foTE 8 IH T H o |
&
Write down the serial numb@f{of the question before attempting it.
5;“
,&? 3
é'?g h
e T - X
SECTION - A
L ﬁﬁagﬁmml(nﬁlx)ﬁsmw@ﬁwwaﬁtm gfﬁmﬁ%ﬁgq .

Write the correct answer from multiple choice questlon 1 (1 .to ix) and write ip given
answer book.
() T R O S 5 e

(3 F€() (@) wA()

@ 20 () ()

Which of the following is an example of Aggregate function ? . &

(a) MAX() (b) MONTH()

@ PG (d) LEFT() 1
Opt.) .
fo- pré- d
N
it
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(ii) = 9 9 =97 Pandas Fﬁ'ﬂﬁﬁrwqﬁ% ?
(31) @ ¥
(@) T (x) »H
Which one is not én attribute of Pandas series ? 1
(a) name (b) wvalue
(c) empty (d) from

(iti) ™ Query = output §dT3T ;
MySql > SELECT MID (““Computer”, 3, 4);
(31) comp (9) uter

(¥) mput (3) pute

What is the output from following queryQ?‘ |
1

MySql > SELECT MID (¢ c

(@) comp 0%?‘ ) uter

(© mput (d) pute

(iv) ﬁwﬁﬁﬁmmwwm?ﬁ% ?

() |5 () &

(@) A | @

Which of the folliowing is not a type of network ? !
(@) LAN (b) TAN

(© MAN (d) WAN

(V) URL %1 gy qmy 2
(30) Ifrent frard g
(@) v faind s
(®) e fraed wrdem
() Ifreht fraet g
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Full form of URL is —

(a) Uniform Resource Locator

(b) Union Resource Location
(c) Union Reverse Location .

(d) Uniform Reverse Location

(vi) YEAR (date) e 41 fre st g ?

() e e (@) TE W
(@) TeF (@) THATETE
What is returned by YEAR (date) function ?
(a) day from the date ?(E) ; ;ngnm from the dae
(c) year from the date (d) Ngne Oflih'ése

(vii) E-mail &1 %8 18 ? ‘ l‘ﬁ\‘g

5 ;
t

@) mﬁmmi@gf
@) faaaqﬁa;%{&}

) et e s
(2) oW1 gaflm w0 & v

What is the use of E-mail ?

(a) To put image in a table

(b) To draw a picture

(c) Tosend and receive a message
(d) To arrange data
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(viii) SELECT POWER (2, 3) %1 3Tr3¢qe 1 BT ?

(3) 6

@ 9

What will be the output of SELECT POWER(2, 3) ?

(a) 6

(c) 9

(%) 8

(R 5

(b) 8
(d 3

(ix) 5 o1 TR & U 9 HicH ST AT & ?

(31) fore
(d) Ser%H

Which data structure 6?%

(@) List

(¢) Data frame

T =T ) ofef Fifve -
Fill in the blanks :

(i)

(i)  sefPam = 3qam

(iii)

(iv)

-

-

Indexing is used for

i, wof R o H A AR AR

In__ °  topology, each communicating device is connected to a central node. 1

e, €y s e o TR
function, return

55_04-Inf0.l’ra,(()th

aaﬁjolumn index ?

(b) Series

(d) None of these

e e e U %1 9g g ¢ |

is a collection of related web pages.

=1 % R B R |

data.

s the number of characters in the specified string.

1x4=4

1
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3. ﬁmuﬁ%m@ﬁﬁﬁm [G) ¥ (viii)] -
Give the answer of the following questions in one fine [(i) to (vii)] : |
(i) String function ! ftaTita $Hifu | ( ) |'
Define String function. ; ; |

(i) SARFRTR 7

What is_ Data Structure ?

(iif) émé;aﬁé%ﬁa’tw&m%ﬁam

o

Write any two uses of Website..,

(iv) VolP®HIquam 1§ ? | e,
_ What is the full form C)f IP 2

e o

r (v)  MOD( ) b 791 % 3T & 7

>

What is th%‘;?;'"g‘-.'ngOD( ) function ?

What do you understand by topology ?
(vii) mysql > SELECT LEFT (“Computer”, 4);

ST 1 31132z fafta |

Write output of mysql > SELECT LEFT (“Computer”, 4): ; N
(viii) Missing Values =21 BT E ? |

What are Missing Values ?
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10.

11.

.
Qg -§

SECTION-B

STETUHSD T (I15g HIHT ST 50 e3) |

. Short answer type questions (Word Limit Approx. 50 Words) :

Series T8 ? I8 l—Dﬁiz?{%HWﬁ:T% ?

What is a Series ? How it is different from a 1-D array ?

Data frame % 7% row SireY < wiEran Igrew wlia vHemsT |

Explain the process of adding a new row to a data frame with example.

Group by Clause %t sraumen e afea fafeg |-
Write the concept of Group by Clause with the rw an example

& 1 e B ?mﬁzﬁﬁ?@ﬁ‘%

What is Hyp 9 Explain 0 #Rub in network.

LAN @ MAN # 37a¢ fafeT |
Write differences between LAN and MAN.

ROUND( ) targr ot <61 Sl @ ? Qe Hfeel HHeAsy |
What is the use of ROUND( ) function ? Explain with example.

pivot_table( ) haH o AR H SATRT |

Write about pivot_table( ) function.

0 (B-mail) 5 Fi-H1 o GRHemd ye@ Har e ¢

Which facilities are provided to us by E-mail ?
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12. Web Server AT EIAT S ?

What is a Web Server ? w
13. T code =1 output = B 7

mySQL > SELECT UCASE (“query™)

What will be the output of following code ?

mySQL > SELECT UCASE (“query™) 15

P
£
%
e
p

Bt
: ; r
What is quartile ? @é;

<

i ¥

14. quaﬂilewﬁm% ? @\ & “l
B

..l
Vi

| ' 15

N N
& &
g:‘f' .

(5. fore e uffetal s fafem |

Write differences between Switch and Repeater.

1.5
g -9
SECTION -C
vl 3wl o /e v (Sreg, e ST 100 5T) 3x3=9)
[.ong answer questions (Word limit Approx. 100 Words) : ”
. 2T B2 (host) T 3 =0T FAfEd |
16
(rite steps o host a website. 3
.. Pra. (Opt.)
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17, fapedi oft TR e e i IeE Hied T |

Explain any four Aggregate functions with example.

18. %a%ﬁqmﬂﬁﬁﬁm|wm%mwaﬁmé%m@amwﬁmn

Define Network. Explain devices that are used to configure a network.

@UE — 7%
SECTION -D

ﬂéﬁmm/mﬂﬁw(—mﬁﬁmWZ

Long answer type ‘questions (\\% Etgﬁg 250 Words) :
b _

19. 0 % : (Product)

PCode PName UPrice Manufacturer
P01 Washing Powder 120 Surf
po2  Tooth Paste 54 Colgate
Lux
P03 Soap 25 _
P04 Tooth Paste 65 Pepsodent
| 38 Dove
P05 Soap
245 Dove

P06 Ghampo©

v e & et queres T
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10
Table : (Product)

PCode PName UPrice

‘Manufacturer |
PO1 Washing Powder 120 Surf
P02 Tooth Paste 54 Colgate
P03  Soap . 25 Lux
P04 Tooth Paste 65 Pepsodent
P05 Soap 38 Dove
P06 Shampoo 245 Dove

Write the following queries from aliove table :.
(a) Create a product table. "e§
(b) ‘Add a new Column — If)jgc“ount to the product table.
(c) Display the total ,nﬁﬁiber of products manufactured by each manufacturer.
e
AT/ OR ¢

&

'3

frfafaa SQEffg;ctions w1 3gTEl Hfga vl Hif :
(31) AT B

(w) e o

(|) 8¢ HETH

Explain the following SQL functions with example :
(a) Numeric functions

(b) String functions

(c) Date functions
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20, W@mﬁmqﬁamm l

Write differences between Indexing and Sk @9]\ xample. | | 4
el
Y1/ O ?\& ;%
& fafir=r s 1 Sreaeh fi bt Taro for wied waee |

Explain various Network Topologies with a neat diagram.

~
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